Balancing Equations Worksheet

. Balance the following equation:
Hy; + Oy — HyO

. Balance the following equation:
C+ 0y — COy

. Balance the following equation:
Na+ Cly — NaCl

. Balance the following equation:
Fe + 02 — F€203

. Balance the following equation:
AlQOg — Al + 02

. Balance the following equation:
C3Hg + Oy — CO5 + H50

. Balance the following equation:
KClO3 — KCl+ Oy

. Balance the following equation:
NH3+OQ — N2+HQO

. Balance the redox reaction:
MnOj + Fe*t — Mn*" + Fe*t

10.

11.

12.

13.

14.

15.

16.

Balance the redox reaction:

CTgOg_ + HgSOg — O’I"3+ + SOZ_

Translate and balance:
”"Methane (CH,4) burns in oxygen to

produce carbon dioxide and water.”

Translate and balance:
”"Magnesium reacts with nitrogen gas

to form magnesium nitride.”

Balance the equation for photosyn-
thesis:
OOQ + HQO — C6H1206 + OQ

Balance the combustion of ethanol:
CoHsOH + Oy — CO4 + HyO

Balance the reaction:
P4 + 02 — P205

Balance the reaction:
HySO, + NaOH — NasSO4 + HyO



Solutions:

1.

2.

3.

H2+%02_>H20
C+OQ—>COQ

2Na + Cly — 2NaCl

. 4F6—|—302 — 2F€203

2141203 — 4Al + 302
OgHg + 502 — 3002 + 4HQO

2KClO3 — 2KCl 4+ 30,

10.

11.

12.

13.

14.

15.

16.

MnOjy + 5Fe*t + 8HY — Mn*" +
5Fe’t 4 4H,0

Cry02~ +3H,S03+8H* — 207°t +
3807 + TH,0

CHy+ 20y — CO4 + 2H50
3Mg+ Ny — MgsN,

6C 04 + 6H,0 — CgH1206 + 60,
CyH;0H + 309 — 2C04 + 3H,0
P, + 505 — 2P,05

HQSO4+2N(IOH — NGQSO4+2H20



